

$$f(n) = \begin{cases} \frac{\sqrt{\varepsilon n^2 + (ln + \varepsilon)n + \frac{n}{\varepsilon}}}{\sqrt{-n}} & ; n \neq a \\ \frac{1 + \varepsilon + (ln - \varepsilon)n^2 + a^2}{\varepsilon + \ln b} & ; n = a \end{cases} \quad \sim \text{R} \quad 0 < b \leq \pi$$

$b = ?$

$$dn^2 - an + b = 0 \quad f(n) = \frac{n^2 + an + b}{n-1} \quad \left[\frac{b - \varepsilon a}{a} \right] \quad -\pi$$

$n=1 \rightarrow 1+a+b=0 \rightarrow a+b=-1$
 $\delta -a+b=0 \rightarrow a=-\varepsilon, b=-\varepsilon$

$\frac{-\varepsilon - \varepsilon}{\varepsilon} = -\frac{2\varepsilon}{\varepsilon} = -2 \quad \left[-\frac{2\varepsilon}{\varepsilon} \right] = -2$

$$f(n) = \begin{cases} \tan \frac{(n+1)\pi}{\varepsilon} & ; n \leq 1 \\ \frac{1 + n - \varepsilon}{a(1-n)} & ; 1 < n < 0 \\ b(n - \lfloor -n \rfloor) & ; n \geq 0 \end{cases} \quad [1, d] \quad ab = ? \quad 1 \rightarrow \tan \frac{\pi}{\varepsilon} = 1$$

$\frac{n+1}{-a} = \frac{\varepsilon}{-a} = 1 \rightarrow a = -\varepsilon$

$\lim_{n \rightarrow 0} \log b = \frac{-\varepsilon}{\varepsilon} \rightarrow b = \frac{-\varepsilon}{\varepsilon} = -1 \rightarrow b = -\frac{\varepsilon}{\varepsilon} = -1$

$-\frac{\varepsilon}{\varepsilon} \times \varepsilon = -\frac{\varepsilon}{\varepsilon} = -1$

$\frac{\sqrt{10}}{10}$

$$f(n) = a[n+1] + b[n + \lfloor a+1 \rfloor] \quad \sim \text{R} \quad \frac{a[a]}{f(a)}$$

$(a+b)[n] + a + b + b[a]$

$a = -b \quad f(a) = a + b - a[a] = -a[a] \rightarrow \frac{a[a]}{-a[a]} = -1$

$$f(n) = b[n^2 - an] - \varepsilon a \quad \sim \text{R} \quad \frac{a}{f(b)}$$

$b=0 \rightarrow f(n) = -\varepsilon a \rightarrow \frac{a}{-\varepsilon a} = -\frac{1}{\varepsilon} = -\frac{1}{2}$

9

$$f(n) = \begin{cases} (1-a)[n] + (ca^r - 1)[-n] & ; n \notin \mathbb{Z} \\ b \sin\left(\frac{\pi}{a}\right) & ; n \in \mathbb{Z} \end{cases} \quad \frac{a}{b} = ?$$

✓

$$1-a = ca^r - 1 \rightarrow$$

$$ca^r + a - c = 0 \rightarrow a^r + a - c = 0 \rightarrow (a + \frac{c}{a})(a - \frac{c}{a}) = 0$$

$$\frac{1}{c}[n] + \frac{1}{c}[-n] = \frac{1}{c} \times 0 + \frac{1}{c} \times -1 = -\frac{1}{c}$$

$$-1 \times \frac{c}{a} = a \quad \checkmark$$

$$b \sin\left(\frac{\pi}{a}\right) = b \sin\left(\frac{ca^r}{c}\right) = \frac{1}{c} \rightarrow b = \frac{1}{c}$$

$$\frac{a}{b} = \frac{c}{\frac{1}{c}} = c$$

7

$$f(n) = \begin{cases} \frac{|n^r + mn - m - 1|}{m|n^r - 1| + |n - 1|} & ; n \neq 1 \\ \frac{m}{m+r} & ; n = 1 \end{cases} \rightarrow \frac{r_n + m}{r_{m+1}} \xrightarrow{n=1} \frac{r+m}{r_{m+1}}$$

1

$$; n=1 \rightarrow \frac{m}{m+r} = \frac{r+m}{r_{m+1}} \rightarrow r_m^r + m = m^r + \varepsilon m + \varepsilon$$

$$\lim_{n \rightarrow \frac{1}{\varepsilon}} f(n)$$

$$n \rightarrow \frac{1}{\varepsilon} \quad n = \frac{1}{\varepsilon} \rightarrow$$

$$m^r - r_m - \varepsilon = 0$$

$$n = -\log \varepsilon$$

$$n = -\log \varepsilon$$

✓
1

~~$$\frac{1}{19} + 1 = \frac{20}{19}$$~~

$$\frac{\left| \frac{1}{19} + 1 - \varepsilon \right|}{\frac{1}{19} + \left| \frac{1}{19} + 1 - \varepsilon \right|} = \frac{\frac{1}{19}}{\frac{1}{19} + \left| \frac{1}{19} + 1 - \varepsilon \right|} = \frac{1}{19} = \frac{1}{19}$$

$$f(n) = \frac{\sqrt{n} |an + a|}{|n^r + (m-r)n + a^r|}$$

$$R = \{a\} \quad n \neq a$$

$$\lim_{n \rightarrow a} f(n)$$

9

$$n=a \rightarrow$$

برای جابجایی
در این مرحله